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TOpiC «=DIFFERENTIAL EQUATIONS

1. The equation of the curve in which subnormal varies as the square of the ordinate is (4 is
constant of proportionality)

a)y =C e2* b)y =Ce’* )L +Ax=C d)y?+Axt=C
. . . . dy 1+ cos2y o .
2. The general solution of the differential equation —~ + 775" = 0 is given by

aJtany + cotx=c b)tany—cotx=c cJtanx—coty=c d)tanx+coty=c

3. The solution of the differential equation (e_z*/} — %)% = 1is given by
aye? =x+c  bye=yx+c Jy=+x d)y = 3x

4. The solution of the differential equation e *(y + 1)dy + (cos?x — sin2x)y dx = 0
subjected to the condition that y =1 whenx = 01is
a)y + logy + e*cos®x = 2 b)log(y + 1) + e*cos’x =1

)y + logy = e*cos® x d)(y + 1) + e*cos®x = 2

5. The solution of the differential equation % =(4x+y+1)>%is

a)(4x +y+ 1) =tan(2x + ¢) b) (4x + y + 1)? = 2tan(2x + ¢)
c) (4x +y +1)3 = 3tan(2x + ¢) d)(4x +y + 1) =2tan(2x + ¢)
6. An integrating factor of the differential equation

dy e —llogx )
x +——+ylogx =xe*x 277, (x,0)is

a) xlogx b) (\/})logx C) (\/E)(l()gx)z d) exz
7. The order of differential equation of all parabola with it’s axis parallel to y-axis and touch x-
axis is

a)2 b)3 Al d) None of these

8. The differential equation obtained on eliminating A and B from the equation y = 4
coswt + B sinwt is

a)y, = —w?y b)y1+y =0 A)y2+y1=0 d)y:1 — w?y =0
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9. The solution of the differential equation %tany =sin(x +y) +sin(x —y) is

a)secy +2cosx =c¢ b)secy—2cosx=c c)cosy—2sinx=c d)tany—2secy=c

10. The degree of the differential equation satisfying the relation \/1 +x% + \/1 +y*=2

(/1 + y2 — y3J1 + x2), is

a)l b)2 c)3 d) None of these

. . . . d .
11. The solution of the differential equation d—z —ytanx = e*secx is

a)y = e*cosx +c b)ycosx = e* +c c)y =e*sinx +c d)ysinx = e* +c

12. The degree of the differential equations x =1 + (%) + i(ﬂ)z + l(9)3 +..
X

21\dx 3N\ dx
a)3 b) 2 1l d)Not defined
_ 2+ sin x(dy\ _ T
13. If y = y(x)and TS (E) = —cosx, y(0) =1, then y(E) equals
1 2 1
a) 3 b)g c) — 3 d)1
d . .
14. The solution of cos yd—z = SNy 4 x2SV js
X __ ,Siny x_3: —X __ ,—siny x_3:
a)e* —e + 3 =C b)e e + 3 =C
X —siny x_3_ X __ siny_x_3=
e +e + 3 =C d)e*—e 7 =C

15. The solution of y dx — x dy + 3x2y2e* dx = 0 is

a);+e’=C b);—e* =0 Q) —5+e’ = d) None of these
. dy 2x—y.
16. The general solution of -~ = 2y IS

a)x?—xy+y*=c b)x* —xy —y*=c Ax?+xy—y*=c d)x? +xy?=c

17. y+x% = 3—1 has the solution
a)y + x% +2x + 2 = ce* b)y + x + x* 42 = ce?
)y +x+2x*+2=ce* d)y® +x + x2 +2 = ce*

18. The equation of curve passing through the point (1, %) and having slope of tangent at
any point (x,y)as % — cos? (%), is

e‘1+tan (%) b)x = el—tan (i) 1+ tan (f) 1—tan (i)

a)x = x=e Y dx=e
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: _ 2 2
19. The solutionof == =1+ 1y + ¥ +x + xy + xy“ is

2y +1

NE

a) tan! (

) \Btan_1 (%) =4(1+x+xH)+c

20. The solution ofz—y =
X

a)2*+2V=c
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)=x+x1m

b)2*—-2Y=c¢
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b) 4tan~! (4y + 1) =B3(2x + x2) +¢

3
—1(2y+1)\ _ 2
d)4tan ( NE )—\B(2x+x ) +c
1 1 1 1
)x—m=c¢C dx+5=c
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